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1. £7 5w & # A -~ $gA& ~ %A (gradient ~ divergence ~ curl)sz+ & -

f =cos®x+sin’y, g=x+y+z,V=[yz, X, xy]

(1) V-(Vf) (2) Vx(VF) (3) V(fg) (4) VxV (16%)
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(10%)
3. - w BHEF(XY,2) =3y T +(2x°y —e)) J+ (2z—-yel)k » %R F 2.7 3

T 3? (B%) (LA FHERM BT 2 wF=Vg » #F g% P (5%)

4, B—FHhoT B o T(t)=(t-sint)i +(1—-cost)] > H+# a>0r 0<t<2x

(1) #F+E0ODzZ#E - (5%)
(2) T P=-y#Q=x > #d eI &k 4 (1=0—>27)E X T2 2 &
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5. %5k Stokes %;I:ﬂ_l_iﬁc If-dfzﬂS (VxE)-AdS 2 @ F =yi +(y—x)j+2%k

Sixe X +y +(2-4)=257242 ;A T ¥ FHR wdye ke o o (18%)
n

6. 3¢5 [[F-idA » ¢ S8 X*+y <97, 0<z<2eipa2 5 2
S

F = (%sin 2X —xy)i +2y(sin? x—%) J+@+y)zk (10%)
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7. %% TH fw E T AL

He s F=xi+(2z-x)j-y’k, S=S,+S,+S,+S,,

I'=I,+TI, +1;
() i, 245 Sgt chB =2 p B> #R: 0,=28 &5 S 95 228 o (4%)
(2) A5 Sychd fE 5 0?2 (4%) z
(3) ffF-nds=2 (4%) C(0,0,2)

Hint:
Gauss 4t €32: [[[V-Fdv={JF-idA (3D) [[V-FdA=§F.ids (2D)

BhEm: Ide+Qdy ”(@—a—P)dxdy

Stokes *% & ZJ2: H(Vxlf)-ﬁdAziflf-dF

P VA - | s T:%d(T(s)d:N(s))|
[L+(y(x)°]?  [F'(t)-F' D]
ERNPIINES 00329=1+00329, Sinzezl—cgsw

v & WA v=§th, AL A A V=%th (A: R h: &)

A x=rsindcosg, y=rsingdsing, z=rcosd
Al e & HAA=r’sin0dodg (O:#rk; gikT &)
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$ay:

1. &7 5w £H A ~ §7A ~ ¥ & (gradient ~ divergence ~ curl)g#t ¥ -

f =cos®x+sin’y, g=x+y+z,V=[yz, zx, Xy]

(1) V-(VF) (2) Vx(VF) 3) V(fg) (4) VxV (15%)

,. 0°f 0°f
(1) V-(vf)=V f:a > +8y =—2C0S2X+2C0S2y
X

2

(2) Vx(Vf)=0
(3) V(fg)=gVf + fVg

(108 ¥ 24 4 ®)

= (X+ Yy +2)(=sin 2xi +sin2y )+ (cos? x+sin? y)(i + j + k)

=[-(x+ Y+ z)sin2x + (cos? x +sin? y)]i
+[(x+y+2z)sin2y + (cos® x+sin® y)]]

+(cos? x +sin? y)k

i 0§ Kk
© veo | 2 2l

X oy 0

yZ  ZX Xy

2. ZRA TG S ENAY L 2x+4y-2=5, X-6y+3z=6H % LR 5 ®?
(10%) (105 ¢ #1 A7)

TG 2x+4y-z=5 F» & 0=(24-))
T§: x—-6y+3z=6 #»# f,=(-6,3)
N . n -0 -25
sk RS cos9—|;||;| NIBNIT:
=0= cos’l(—m) =2.5054 (rad) =143.55°
L Q=1 cosl(—%) = 36.45°
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3. - w BHEF(X Y, 2) =3y T +(2x°y —e)) J+(2z-ye )k » 32K F 2.3

TR

w232 (5%) (AR FHWERMRF]) c £ wF =Vg s 3R g 5 7 (5%)
(10724 3 4 7)

i j K
- VxF = i i g =0
X oy oz
3’y 2x’y-e' 2z-ye'
R At A S
%:3X2y2 3,,2
o p=xy +f(y2)
F=Vy = %=2x3y—ez =14=x"y" —ye' +9(x2)
o ¢=12"-ye' +h(xy)
—+=2z-ye’
0z

soog(Xy,2)=xy —ye' +7° +C

(1) #3+EO0D2#HE  (6%)

4, B—FR4oT B o F(t)=(t—sint)i +(l—cost)] » H¥ a>0F 0<t<2r

(2 BETP=-y2Q=x%d RHITIVLARER(U=0>27)8 X" 2 &

o (6%)
Q) #BRAEDEBZE Y E - HixEeiad o (6%)

D(37/2+1,1)

Q){U.O] I

(1) F{t)=xi+y]=(t-sint)i +(@-cost) ]

Xx=t-sint = dx=(1-cost)dt
y=1-cost = dy=sintdt
d D(37”+1,1)?:rr e t=37”
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Sep =J'ds=.|'|dF|=J'1/dx2+dy2 =j,/(%)2 +(3—3t’)2 dt

=I:2”\/(1—cost)2+(sint)2 dt

3z
:J'OZ W2 —-2cost dt
ot
=ZI 2 sin— dt
0 2

3z
2

— _4-cos™
2

0

:4+2\/§
(2 it;_ ydx + xdy = ZJ‘J' dxdy = 2A

:>A=%§—ydx+xdy
10 _ _
ZEL [-(1—cost) - (1—cost)dt + (t —sint) -sintdt]
B %LO (-1+2cost—cos’t+tsint—sin’t)dt
:%J‘: (—2+2cost +tsint)dt

= %(—Zt +2sint —tcost +sint)|2”

1
=——(4r-2
2( 7 —2r)
=3r
@) Fit)=xi+y']
f"(t) — Xui' + yn]'
r!(t) X r!!(t)| X!y” _ Xﬂy!
= 3 3
[F'@t)-F'(1)]12  [(X)* +(y)°]?
2
X=t-sint :x’:%:l—cost :x”:%zsint
dy d’y

=]l-cost =y =—"=sint =DVy'= = cost
y y dt y dt?

X!y” _ X"y!

_|@—cost)-cost —sint -sint|

k= 3 3
[(x)? +(y)?]? [(L—cost)? +sin?t]?
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(1-cost) 1

3 1
(2—2cost)? 22 (1—cost)?

#t =" N s TR k=

1
2 242
§rog fol® (L-cost)i +sint] 1
A e = =

Fo) J(—cost)? + (sint)? V2
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5. %5k % Stokes ii.“:’.& ﬁ-szﬂs (VxE)-fdS & # F=yi+(y—x)]j+z%k

SEME X +y +(2-4)"=257242 WA F 2 M whyw e o (18%)

(110 & 2 4)
i ] k
Vxlf:i 9 Q——2|Z
ox oy oz
y y-x z°
S: X +y +(z-4)=25 =7=4+,25-%x"—y?
FOGY)=XT +Yj+zk=Xi +y]+(@++25-x2—y?)k
fids = (x Dyaxdy = (——X 7o Y §iK)dxdy
ox oy J25-xP—y?  \[25-xE—y?

[[. (vxF)-fids = || (-2)dxdy = (-2)-S,, = (-2)- (5" -7) = ~50

Syt SEH I Xy T # & f
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WARC: xX*+y° =25, z=4 =x=5c0s0 , y=5sing

F(0)=xi +Yy]+zk =5c0s07 +5sin@ j + 4k

= dr = (-5sin @i +5cos0 j)do

§C F.df = joz” [5sin @7 + (5sin@ —5c0s6) j +16K]- (=5sin 7 +5c0s6 ])do
= [ [-25sin’ 6 + 25(sin g cos @ - cos* 6) 16
=[" (—25+%sin 20)d0

=-507x
§C ﬁ.drzjjs (VxF)-AdS @z

6. 34K [[F-fdA > # ¢ SEd X’ +y <07%, 0<z<2eHffd2d 5 =
S

F= (%sin 2X —xy)i +2y(sin® x—%) J+(4+y)zk (10%) (108 2 + 3 )

VA
A I’:6

v
<

x

J R IR b ”If-ﬁdAzﬂj(V-lf)dv
S \Y

1. . 1

_0(Zsin2x—xy)  0(2y(sin’x—2))

V.F=_2 + 2 +5((4+Y)Z)
OX oy 0z

=(cos2x —y) + (2sinx=1) + (4 +y)
=(cos2x—Yy)+(@L—-cos2x-1)+ (4 +Y)

=4
jvﬂ(v-lf)dv =jV”4dv =4V :%-ez-n-zz%n
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He s F=xi+(Q2z-x)j-y’k, S=S,+S,+S,+S,,

I'=I,+T, +1;
(1) N34 S4 el 2w f > R 0,=23f&5 S 458 o (4%)
(2) A5 Sy # 5 @2 (4%) Z

A

3) fJF-ids=2 (4%) [ C(0,0,2)

(4) 3 S A FE jrﬁ.drz? (5%)

(1) d=(0,10)—(L0,0) = (11 0)

b=(0,0,2)-(0,0)=(-10,2)

axb=(2 21
< _dxb _ (221 _221
) ‘éxﬁ‘ V22122412 3'3'3

o, 1. 4 3
(2) A Sy ﬁfzzaxb‘:E

Wl

(3) ¢ Gauss B 73T ﬁﬁ-ﬁdS:ﬂjv-ﬁdv=ﬂjdV=%%.2:

4) I,: x+y=1 =y=1-x =dy=-dx (z=0)
I,: 2y+2=2 =1=2-2y =dz=-2dy (x=0)
I[: 2X4+42=2 =1=2-2x =dz=-2dx (y=0)

=l

[ Fodi=] F.dr+[ F.dr+[ F.d
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:L xdx+(22—x)dy+'[r (2z - x)dy - y?dz
2
+Ir3 xdx — y“dz

= J'lo 2xdx+L0 (4—4y+2y2)dy+I0l xdx

9
6
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